




Q1. THE SMALLEST 4 DIGIT NUMBER IS

a) 1111
b) 1000
c) 0001
d) 1001



Q2. SAHIBA BOUGHT A SWEET FOR 1 RUPEE. SHE GAVE A 1000           
RUPEE NOTE TO THE SHOPKEEPER. HOW MUCH MONEY DID 
THE  SHOPKEEPER RETURN TO HER?

a) 990
b) 999
c) 909
d) 009



Q3. THE SMALLEST 4 DIGIT NUMBER 
FORMED BY THE DIGITS 6,0,0,9 IS

a) 0069
b) 6009
c) 9006
d) 6900



Q4. IF YOU ADD 1 TO THE GREATEST 4 
DIGIT NUMBER, WHAT DO YOU GET? 

a) 10000
b) 0001
c) 9999
d) 1001



Q5.  THE FACE VALUE OF 5 IN 3567 IS

a) 500
b) 5000
c) 5
d) 50



Q6. WHICH IS THE LARGEST 4 DIGIT
EVEN NUMBER?

a) 9999
b) 1000
c) 8999
d) 9998



Q7. WHAT IS THE DIFFERENCE BETWEEN THE
SUCCESSOR AND THE PREDECESSOR OF A 
NUMBER?

a) 2
b) 1
c) 0
d) 5



Q8. WHICH IS THE SMALLEST 4 DIGIT NUMBER IN
WHICH ALL THE DIGITS ARE DIFFERENT?

a) 9876
b) 1023
c) 1234
d) 0123
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